Rhoxy 37 03 00, mean=0.0774

W —0.05

lhlu. '.,"l.r
L Lt N
1""4..1'11lr. : 'r

-.1_-' |"TlJ -:I-' . '. L g L e L Sy
T AT |_t:--.-|-l..'r e B
o __-r_-,_-:t_-h".r::_" e, T o

l-"Fh"ﬂ:I...r-l' by

-0.05

-0.1

Sample Number



Sample Number.

Rhoxy 37 03 01, mean=0.0607

I.III \
'I--F_"'I -dr :

ﬂ#.q..f-’.‘.’.. e

o e sk
i _,,* r:*...,.."":,i 1" ..;.:I:.ET'
S i LA

-0.05
TR Py
R . '-|'- - ha._-_-_..-:.:';
J '-;!-I_-I .Iir-:l'l .L-l.--r- -_—.l:-'.
S R

0 10 20 30 40 50 60 70 80 90 100

Sample Number



Rhoxy 37 03 02, mean=0.0619

= —0.05

P '-1 -0.05
!r_:_. ..--I |.:

H‘*II

:ll:...‘l o ‘:. dlon"n n"n _01
0 10 20 30 40 50 60 70 80 90 100 '

Sample Number



Rhoxy 37 03 03, mean=0.0789

- .: .I'-_.l. _l_
| ] .I | | I I |

R e

10 20 30 40 50 60 70 80 90 100
Sample Number

-0.1



Rhoxy 37 03 04, mean=0.0584

y e e n e
Pt *':ﬂr‘,’}**::r'- i
i S <o

e L SR AN T .05
" .'.F' e aefl e |.|_ - .

"l-.-'I'J |- 1

- n h. 1. l. -
-I-"!-I'I:-T'I '|.-'_ 'rl.

-0.05

u l. n
-: i L=l
o .I ||
| ]

-0.1

Sample Number



Sample Number.

Rhoxy 37 03 05, mean=0.0613

(o]
O

00)
O

0.05

30 I-. 1- . .. | : ] .. ¥ - . ) I rl.; : ..... .

- = l.l * -+ -F- - .‘ _005
ot i J- e 4.k
'.'.'.Ill— | |.|.|..l 'ﬁr.rl r|=|_.|:_d.
‘ . I: | - H N .I .:. . . -J -- L
10 # || I. - .. i m .. :.I. - .I. - i. - Hiql -
[ | | | B L = ] | ' - I..I . . 8 u [ |
| | | | || | | | | . | .II l |. . . .'.": I
0O 10 20 30 40 50 60 70 80 90 100
Sample Number

-0.1



Sample Number.

Rhoxy 37 03 06, mean=0.0595

-0.05

| | | |} | | | | 1 .| | | | | | | l‘ II -
10 20 30 40 50 60 70 80 90 100 0.1
Sample Number



Sample Number.

Rhoxy 37 03 07, mean=0.0468

-0.1

Sample Number



Sample Number.

Rhoxy 37 03 08, mean=0.0512

"""4""' T g, SR
- 'I_ "I":I R .I_.I ""

—_|".!III- u'l-'l'r'l -|-l-"-|. .I"
aa, I.J-.h'ill

I.' e r-.- '- g .-.-:: —0.05
* |..'L-r|:;!. T ;

I|
il
*':;wr-** 5

. h I ..I I.. F

-0.05

| | I .l | | . N .. l | | | | | | I | | _ N | | . -
10 20 30 40 50 60 70 80 90 100 0.1
Sample Number



Rhoxy 37 03 09, mean=0.0449

(o]
o

00)
o

L —0.05

Sample Number.

~
o

-0.05

0 10 20 30 40 50 60 70 80 90 100 01

Sample Number



Sample Number.

Rhoxy 37 03 10, mean=0.0481

Qo O
o O

~
o

-0.05

| T || I | | ||
by el

10 -l.. .'..l. R .._I_.Ilr..--. .|l_.*-l_-.T-I-.'I.-_'
e

0 10 20 30 40 50 60 70 80 90 100 O

Sample Number



Rhoxy 37 03 11, mean=0.0766

Sample Number.

T r Lol
90 [ M AN Sy
i
50 IR, < .'I| .-._!.'-.I._.: .
_r-;':IJ":i-'i #:III-' . 0.05
S = 1k
R

o lll
-::.;_#.i o

u -..J |

S
i! .
1._ s

e Ty .. M s -.-:-‘
FII}.‘rIII.:r-II. 1_. I|.|1J.I-:-||.!I.-I |.J
'-': .-:E'--,II L .--'.-.-.-""' "'!"-':'i!'i-q 0.05
L'I-J""l-'ll.J . .I-TII I-'.r-l?. ﬂ- I
10 - |'|.|-|l '.'I_l_-..|r|

=pr-
{l. .'_;_ Il"' J,.Ii'..'l:':

0 1020 30 40 50 60 70 80 90 100
Sample Number

-0.1



Rhoxy 37 03 12, mean=0.0449

-0.05

% 10 20 30 40 50 60 ' 80 90 100 Ot

Sample Number



Sample Number.

Rhoxy 37 03 13, mean=0.0510

Sample Number

-0.1



Rhoxy 37 03 14, mean=0.0560

o I....' of oo n -.l._--:'*_ -'.-:.'. :.-._. '-: —0.05
Tt

" -'-L-lil-l- - £ | :. -Jl'.l:".': HL Lo

s r""=--|l-"-||'L ‘r':'-.-

S0¢ -I-:I-'.I-_:‘-'L:I.LI-I:I-J."u -l'.'- I:.l
I.'l| '||.I-.|I;II— 'r;;_l 1.'
A JH,:,

e

L PR

£l -;-_ 0.
20 3o %,:. .lil:_ .|- oo

'.|." .|'I-

0 10 2030 A0 50 60 70 80 90100 0.1

Sample Number



Rhoxy 37 03 15, mean=0.0216

0 10 20 30 40 50 60 70 80 90 100
Sample Number

-0.1



Sample Number.

Rhoxy 37 04 00, mean=0.0791

ST e L
PPt e i b,
e e = it s L
= II gl il | w u "
m | r.l*.l | FI.I_-' d. " | lH 1 0.05

(o]
o

00)
o

I;I;11- .I.I-I II. I... .:-*II'I IL.I

R B A DL, L )
: A e e e Y T J
60 prsi - e L L | b Lt o

u III ITI | | | I-I‘..:..F‘

.. n -‘ . | .I [ ] I T J u I.I | | |

501 o T et o B bl
h-l | | .I.I .II‘ .I.I.

B I .I£I! r = .. | | ;:: - -. I‘I -I II -.J-. ; r..:.]? rrl

40 L A Y e L

At T B
> SR o T e ]
.q.l- | | ..1.....I .d.. *. .I.

-0.05

" et fr i Ak T
20 gt Tl T el i

10/ "-":'5":.:-:%' '_ --!'I :E'l-i'."%:"'- o e L TF

O [ A e L

e R ) o

O | | l.-' .‘ q -l. Il r .l lhl 3 l. | .l ll_lllr | | .l ...-.I .. J Il : : lﬁ.
O 10 20 30 40 50 60 70 80 90 100
Sample Number

-0.1



Sample Number.

Rhoxy 37 04 01, mean=0.0597

o
o
[

(o]
o

00)
o

20 iy A i g 1 R T :
S e 1 o T Lo g
30 o T B +§ g e e e
AR A S L S e 0,05
20t TR e R - - e Y
] s e . Rl > = il-l E-.:I'- = T,
10 g -;!_'_-1,'?.;-_ dr Sy A bl e R i
a1k o o s TR

0 10 20 30 40 50 60 70 80 90 100
Sample Number

AR P

-0.1



Sample Number.

Rhoxy 37 04 02, mean=0.0942

-0.1

Sample Number



Rhoxy 37 04 03, mean=0.0714

0.05

-0.1

0 10 20 30 40 50 60 70 80 90 100
Sample Number



Sample Number.

Rhoxy 37 04 04, mean=0.0916

Sample Number

-0.1



Sample Number.

Rhoxy 37 04 05, mean=0.0671

R b L O LT, ] T,

= 'Ei._'.-:. !'._.-:Ii':: :; ¥
ot Tl e

(o]
o

00)
o

0.05

-0.05

-0.1

Sample Number



Rhoxy 37 04 06, mean=0.0392

Sample Number

-0.1



Rhoxy 37 04 07, mean=0.0682

100
G) ]
Q ]
%90:
- |
%Eiso
—0.05
B70fd e
e ..IJ'I
.--':'. -

T At

50 -‘I' I-.- . rg -|._l_ -|.|-

'-..1

30}
0.05
20 g m plnm . : .
I'.Il.'l---'-l.ll. . g
1o ECe AL LT

L& R et
.|" '-r 4B =ik |I|":I J_ '!'I.-r..r |: Ty . :-

O ' - .II

0 10 20 30 40 50 60 70 80 90 100
Sample Number

-0.1



Sample Number.

Rhoxy 37 04 08, mean=0.0426

00p= -
© b R e

'Elli-pi- J"-'I'rt| ;_h."-"-ll:"' 1_,_.

T 'L"II'-1-"'- +"'|_.".'.'_:‘..'.'..| %
80 =3 i - A -
SRy
g ey

B0 o 1._._,|,_ ,r;i_':._ “."' ol g

50 _"r -* "I"I.r.lll'-l-'*"

Eul‘l :i: ._'_l-ll.',.qr'-
:".r_.r | ..:..' =g -|..l:l" I.‘I'l-l.l.p-r- ||'trl-!|

i LT
.- --.Ir"'-|.!|-.l.IIII IIII'-:_i'-'i-"..
o=
_I-J|T. I'L'—J'"'J-rl-;rfl_l !
10 rl -llq_- l'l"' = Hl."-.
e ATt —I" m =]
QM o P ey T I"HI E 1:- NN

Sample Number

0O 10 20 3040 50 60 70 80 90 100

-0.05

-0.1



Rhoxy 37 04 09, mean=0.0465

l II
10 20 30 40 50 60 70 80 90 100
Sample Number

-0.1



Sample Number.

Rhoxy 37 04 10, mean=0.0453

Sample Number

-0.05

-0.1



Sample Number.

10 20 30 40 50 60 70 80 90 100

Rhoxy 37 04 11, mean=0.0388

J-E ..l:'_ "l'tﬁ.l-l'

e ’f:‘iﬁ. R "':r'*’ R
-|.|-I.-| T 5 ol :.r-l
ﬂ-‘ J -L' K I g " 1 1"|I£I.EEI:I :':I'.: ;
G et B b R el 0.1

Sample Number



Sample Number.

Rhoxy 37 04 12, mean=0.0427

10 20 30 40 50 60 70 80 90 100 Ot

Sample Number



Sample Number.

Rhoxy 37 04 13, mean=0.0480

Sample Number

-0.05

-0.1



Rhoxy 37 04 14, mean=0.0544

r i-_la 'r

-0.05

% 10 20 30 40 50 60 70 "80 90 100 o1

Sample Number



Sample Number.

Rhoxy 37 04 15, mean=0.0355

.. .‘..- |

l-. L.- .I. ..
m - Y L
....I .1-F.I n ._. H ... o
Ty e e e

1y = k '_I: | '|; I -:I:r " "I'-:;;' -.

Sample Number

-0.05

-0.1



	pedestal_studiesA_37_03_00_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_01_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_02_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_03_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_04_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_05_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_06_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_07_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_08_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_09_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_10_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_11_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_12_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_13_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_14_c1
	Contents
	Page 1


	pedestal_studiesA_37_03_15_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_00_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_01_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_02_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_03_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_04_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_05_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_06_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_07_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_08_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_09_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_10_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_11_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_12_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_13_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_14_c1
	Contents
	Page 1


	pedestal_studiesA_37_04_15_c1
	Contents
	Page 1



